TEST 3

I. Choose the word which is pronounced differently from the others. (1 pt)
1. a. brainstorm 
b. sailing

c. railway

d. captain [image: image1.jpg]



2. a. hey


b. honey 

c. obey

d. grey
3. a. played

b. closed

c. filled

d. needed
4. a. healthy

b. ahead

c. bread

d. seatbelt
II. Use the proper form or tense of the verbs in parentheses. (2 pts)
1. I (visit) …………………………………….… my grandparents yesterday.

2. Mr. Quang (teach) ……………………………….. mathematics since 1999.

3. This house (build) …………………………………….…..two years ago.

4. They used to (live) …………………………………………………...here.

III. Give the correct word forms. (1 pt)
1. This film is really…………………………………………………   
(bore)
2. My mother liked the ………………………...of that young pianist.
(perform)
3. I was ……………………………
.at the end of the film.                   (shock)

IV. Choose one word in the parentheses that best fits the blank space. (2 pts)
1. The film was so boring. (Therefore, However, Although), Jack saw it from beginning to end.

2. I'm sure you'll find the film (amuse, amusing, amused)
3. (There , It. This) is not very far from here to the harbour. 

V. Read the text and fill each blank with the word provided. (2 pts)
(than, many, because, by)
When you are in Hong Kong, you can go about by taxi, by tram, by bus, or (1) ………. underground. I myself prefer the underground (2) ……………. it is fast, easy and cheap. There are (3) …………… trams and buses in Hong Kong, and one cannot drive along the road quickly and without many stops. The underground is therefore usually quicker (4) ……….….. taxis or buses. If you do not know Hong Kong vvery well, it is very difficult to find the bus you want.

VI. Rewrite these sentences in such a way that it has the same meaning as the sentence above(1pt)
l . Our teacher is always a careful driver.

=> Our teacher drives ……………………………………………………………

2. You had better walk to school.[image: image2.jpg]



=> You should …………………………………………………………………..

VII.Put questions for the underlined parts in the following sentences. (Ipt)
l . I live in Oue Vo.

=>………………………………………………………………………………..

2. It is about three kilometres from my house to the nearest town.

=>………………………………………………………………………………..
THE END
